Solution of ECE 315 Test 5 FO6

For each pair of signals x;[n] and x, [n], find the numerical value of
y[n]=x;[n]*x,[n] at theindicated value of n.
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For each case y[n]=xy[n]*X,[n]= D, x;[m]x,[n—m].
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y[3]= 2 X1 [M]x2[3=m]=x,[3]xo[0] + X1 [4]%5[~1]+ X4 [5]x,[ 2]
=0+(-2)+0=-2
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y[-2]= 2 X1 [M]xz[~2~m] = xq [1]x5 [-3]+ X1 [2]xo [ 4]+ X1 [ 3] X [-5] + x4 [ 4]x, [ 6]
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4. X,[n]=-3u[n] and x,[n]=ramp[n-1] y[1] =0
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y[n]= >, —3u[m]ramp[n—m—l]:>y[1]=—3§ ramp[-m] =0

M=—o0 m=0
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For each pair of signals x;[n] and x, [n], find the numerical value of
y[n]=x;[n]*x,[n] at theindicated value of n.
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For each case y[n]=xy[n]*X,[n]= Y, x;[m]x,[n—m].
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y[4]= 2 x1[M]xp[4—m]=x[4]%5[0]+ %, [5]xo[ 1]+ X1 [6]%5[-2]
=-2+0+2=0
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y[-1]= _2_, X1 [M]xz[~1=m]=xq[1]xp[ 2]+ %1 [2] X, [-3]+ X [ 3] X [~4] + X1 [ 4] %, [ -5]

=0-2+0+0=-2

4. X,[n]=-3u[n] and x,[n] = ramp[n-1] y[2] =-3
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y[n]= > —3u[m]ramp[n—m—l]:>y[2]=—3§ ramp[1- m]=-3

M=—oo m=0
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For each pair of signals x;[n] and x, [n], find the numerical value of
y[n]=x;[n]*x,[n] at theindicated value of n.
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For each case y[n]=xy[n]*X,[n]= Y, x;[m]x,[n—m].
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y[0]= D xi[m]x,[-m]=x,[1]x,[-1]=2x(-3/4)=-3/2
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y[-3]= Z X1 [M]xo[~3=m] = x; [3]x; [ 0]+ X [-2] x5 [1] + % [-1]x, [ 2]
=0+2=0=2
X, [n] x,[n]
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y[0]= Z X1 [M]xp[=m] = xq [1]%5 [~1]+ xq [2] %5 [~2] + %4 [3]x5 [ 3]+ x¢ [ 4] x, [ 4]

M=—occ

=0+0-2+0=-2

4. X,[n]=-3u[n] and x,[n] = ramp[n-1] y[3] =-9
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y[n]= >, —3u[m]ramp[n—m—l]:>y[3]=—3§ ramp[2—m]=-9

M=—o0 m=0



